Converting Between cm and m (H)

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base

- <« | T ' ' > X
G M k h dai 'd ¢ m 2 n
9876543215_?“:-1-2-345-6789

1. Convert 0,814 m to cm

2. Convert 79.000 cm to m

3. Convert 0,57 m to cm

4. Convert 2.353.000 cm to m

5. Convert 653,5m to cm

6. Convert 7130 cm to m

7. Convert 3512 m to cm

8. Convert 0,099 m to cm

9. Convert 25.510cm to m

10. Convert 75.360 cm to m
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Converting Between cm and m (H) Answers

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
vl = o
5 7 s § g ig g g 2
"Bh S % & <' s 8 E £ =
- < : e ———— : —p X
G M k h da, *d ¢ m 2 n
9 8 7 6 5 4 3 2 15 -1 2 3 4 5 6 -7 -8 9

1. Convert 0,814 m to cm
0,814m x 10 X 10 = 81,4cm

2. Convert 79.000 cm to m
79.000cm =-10+10=790m

3. Convert 0,57 m to cm
0,57m X 10 X 10 = 57cm

4. Convert 2.353.000cm to m
2.353.000cm = 10 = 10 = 23.530 m

5. Convert 653,5m to cm
653,5m X 10 X 10 = 65.350 cm

6. Convert 7130cm to m
7130cm +-10+10=71,3m

7. Convert 3512m to cm
3512m X 10 X 10 = 351.200 cm

8. Convert 0,099 m to cm
0,099m X 10 X 10 = 9,9cm

9. Convert 25.510cm to m
25.510cm =10 =+ 10 = 255,1m

10. Convert 75.360cm to m
75.360cm =10 - 10 = 753,6 m
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